SUMMATIVE ASSESSMENT -1 (2011)

Fafora wder—| 470014
SCIENCE / fasm
Class — IX / Sh&IT— IX
Time allowed: 3 hours Maximum Marks: 90
feiRa w9 : 3 gve HTH 3H : 90

General Instructions:

(i) The question paper comprises of two sections, A and B. You are to attempt both
the sections.

(ii)  All questions are compulsory.

(iii)  There is no overall choice. However, internal choice has been provided in all the
five questions of five marks category. Only one option in such questions is to be
attempted.

(iv)  All questions of section A and all questions of section B are to be attempted
separately.

(v)  Questions 1 to 3 in section A are one mark questions. These are to be answered in
one word or in one sentence.

(vi) Questions 4 to 7 in section A are two marks questions. These are to be answered
in about 30 words each.

(vii) Questions 8 to 19 in section A are three marks questions. These are to be
answered in about 50 words each.

(viii) Questions 20 to 24 in section A are five marks questions. These are to be
answered in about 70 words each.

(ix) Questions 25 to 42 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most
appropriate response out of the four provided to you.

= A

(i) 39 YT 9= Bl a1 91, 9N 3 3R 90T § § dicl AT 2 | MUHT S IR & U & SR
fora £ |

(i) ) geq arfard €1

(i) N UHA 939 W DS T99 U 8] & WRg Yra—did D! & ufa gt 7 fiady = fean
21 39 Ul # 319 Sael Ua Hiadl F99 & SR forad & forg g7 9o 2|

(iv)  mI®T ¥IT o iR 9FT § & 9l el & Sk JId—9dd foras 8 |

(V) Taa%ue:rﬂ'@m1ﬁsa%qu—wa"cﬁfﬁ%*lsﬂcb\smﬂwzleqawwwamﬁ
|

(Vi) 9T 31 & U9 GAT 4 | 7 & U QI-al 3l & & | $HP S} I THIT 30—30 Il H o B |

(vii) gW&EﬁWﬂ'@ﬂsﬁmiﬁWEﬁﬁ—‘cﬁ?aﬁ@%lsﬂm SR ST 50—50 W&l § o
|

(viii) T 31 & U T 20 ¥ 24 & YT UMA—Uid b B © | 96 S) THIT 70 & H < T |
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(ix) 9FT 9 & ged AT 25 H 42 & U YANHG DI W ARMRGT dgfddhedl Ue ¢ | IAD
Ue U& 3% &1 2| Ry T IR fwedl # 3 3Mud! dad U6 999 STYad fdbed g 2 |

Section A

1.  Write the name of any two substances that sublime.

gl <1 SeauTast it o W fafEw |

2.  Why isitadvised to tie luggage kept on the roof of a bus ?
9 1 B T T HEM H T H A AT ST 2

3. Name the plastid which stores starch, oils and protein granules.

39 ®IEE w1 9M fafed St wrE, 9o 991 YeF SiY gere! sl Gied i ¢ |

4. Why blood is a mixture and graphite is an element ? Mention any one reason for each.

T Teh 01 § STelfoh YhES Tk dad, 3 2 Todoh & U Toh-Teh &Rl faf@gn |

What is meant by free fall ? Two bodies, one of mass 1g and other of mass 1 kg are
dropped from the same height in vacumm. Compare the two time intervals in which the
two bodies will hit the ground.

T U § R AT €7 1g A1 1 kg §HAM & a1 favel 1 fata § wAE S9E § fiwwmn s
3 GHI- 3Tl skl o hitse e 3 fuve gxdt o i

6. What is endocytosis ? Give one example.

TESMERTE 1 T ? Toh SET8L0l STt |

7. What are the two main components of blood ? Why is blood considered a type of
connective tissue ?

TR () & 2 YA 1999 18 2 38 HAS ek ol Teh YohR 1 HHT STl & 2

8. CO, is a gas. Write its any two gaseous properties to justify it.

How can we liquefy this gas ? Solid CO, is also known as dry ice. Why ?
(CO,) TH W &1 39 Fd &l Y8 & T 30 < 6l o1 fafew | 9 719 &1 39 fofg yer 29 o
IS HHA & 7 B CO, Fl Y ot +ff Fad &1 i 2
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10.

11.

12,

13.

14.

Describe any three properties of colloids.

HIATSE] o foh=gl oI T[UN <1 U hifIT |

Draw the distance - time graph for the following situations :
(@) When a body is stationary
(b) When a body is moving with a uniform speed

()  When a body is moving with nonuniform speed.

frefafea aitfeafa & fae -w9= s St
(@) T HE A% TR T
(b) T HIE T THITH =1A § A T
(€) o I I TEAM oA F A 7

“A boatman pushes the river bank with a bamboo pole to take his boat into the river.” Explain
his action with reason.

“ ek AIfarR 31T e T AR & U H @M & o ot o Ui ¥ ST & fRAR R ahea 871 SHeh]
39 f5ha i T wfed wHemEd |

(@)  Define weight.
(b) How does the gravitational force between the two bodies change if the distance between

them is tripled ?

(a) R kI giwm fafen
(b) T IEGHI ok o= T el Ryl 9 H - Ifads sTw 4fs seqat o o< o1 gff 74
oM R <

(@) State the law of conservation of linear momentum.

(b) A ball of mass 100 g moving with velocity 10 m/s is stopped by a boy in 0.2 s.
Calculate the force applied by the boy to stop the ball.

(@) o HXavr K frm fafed
(b) 10 m/s o ST | TAHH 100 g TAHH i Sifcl I Th €k GRI0.2 s H ek foramr smar &1 3w
TEHh ok R St ohl Uk oh T3 T T el h1 IR ohifTd |

If a stone is thrown vertically upwards to a height of 9.8m, calculate
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15.

16.

17.

18.

19.

20.

(i)  the velocity with which it was thrown and

(ii) time taken by it to reach the highest point. Take g =10m/s?

Teh TeeR 1 Seaier foen § SR Fi 3R et S € 27R 98 9.8 m il 91 dh Ug=dl &1 INhe
Hifera

(i)  HeeR foRa ST | X ekt T d

(ii) IR g SHqH Toig T Ug= H fohad 1 THI @M ? (g =10m/s?)

Show the diagrammatic representation of the location of intercalary meristem and lateral
meristem in plant. Name the meristem which is responsible for the increase of girth of root ?

e B eitg 3R sfdfdse fausdas foeT umi § 9 9 € 2 39 o gr ww whife | 39 favsas
1 T fafed < soeht gat =i gfg F foae soereh g g

State in brief any three roles of epidermis in plants ?

Tt 1 aedi Tl i YfHemistl 1 Sei hifs |

Differentiate between diffusion and osmosis. Write any two examples where a living
organism uses osmosis to absorb water.

foaRor 3R ERoT § 3R T il | hIE g SERv aiferd o g Sfifad Sfita Sia U801 i &
feTd TREROT hT WA L B |

What is ‘green manuring’ ? List any two commonly used green manure crops and name two

macronutrients provided by green manure.

‘T ER FE? fFE QA U WM w S el 5 @R e s GE a9 a1 340 e g/ 5
ST 316l QI JequItehl o 19 ST |

What is crop rotation ? Tabulate two difference between inter cropping and mixed cropping.

T ek T R 7 SRR a2l THi%Sd HEceRiol o 1 Ul hl difcTeRTslg hifsTU |

(@) A solution contains 40g of common salt in 320g of water. Calculate the
concentration in terms of mass by mass percentage of the solution.
(b) Identify solute and solvent in “tincture of iodine’

(c)  Why Tyndall effect is not seen in true solution ?

(a) T faaem & 320g foemrs Sa # 40g TeRoT Hes foer €1 oo & arsar g
Hfcsrddl s &9 H gfesferd ifs
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(b) T srmnfed # facra qen faemee vg=nfa
() drfesk foeam | foea yue w1 & fewE Sm R 2

OR
(@) Calculate the amount of glucose required to prepare 250g of 5% solution of Glucose

by mass.

(b) What are dispersed phase and dispersed medium in colloids.
(a) 5% ZeAAM R 1 250g TefehlsT Toretd™ s o TeTT fohd TefehSt hl STerwdehdl Teiit ?

(b) HEEH H URfare sterwe qu uRadur HreAn 1 e § 2

(a) Define the following properties of matter -
(i) rigidity (ii) diffusion (iii)  compressibility
(b) Arrange solids, liquids and gases in the ascending order as regards the extent to

which each of the above properties is exhibited them.

()  Write any one example from your daily life experience which is based on diffusion of
gases.

(@) &A% f1e o skl aRwite sifsd -
() e )  fomam (i) — HdrgA

(b) AT S, 74, 19 9 H 9@ S9id § 39 % SR W 3% Y 01 6 fod ded
%Y H Faftyd Hifsd |

() 1o 2fer Sfiad | HIE Tk TH1 el A S8 S1ra Wi o foremor o STem o qHE
T |

OR

()  Explain the following properties of matter.

(@)  Rigidity (b)  Fluidity ()  Density

(I)  For any substance, why does the temperature remain constant during the
change of state.
(III) ~ What type of clothes should we wear in summer ?

(IV)  Why is the rate of diffusion of gases is faster in gases ?
() =A% 7 o 1 T -

(a) qedl (b) LAl () ¥ (Density)
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22.

23.

(IT)
(I1)

(IV)

fore} geref & T srereen ufiadq & T9g qaM safiafda =i & g ?
THA § &6 T TR & HUS Te - =ifed 2
41 h1 N1 fereor oSft 9 = B 8 ?

Using Newton’s law of motion, derive the relation between force and acceleration.

Define one newton.

Which would require a greater force to accelerate a 0.5 kg mass at 5 m/s? or a
4 kg mass at 2m/s? ? Give reason.

= & T ok T1FH 1 START Tk ofcT q1 @01 o St Haieg Fcd=l hifSIT |
Teh =2 o ki g fafiay |

0.5 kg ZSIHM h1 5 m/s2 1 0T YGH HT S 4 kg FHHH & 2 m/s2H ©RO T&H
w0 H 9 R stfues a1 1 sTaweshal ant 2 SR fafa |

OR
Define Inertia. There are three solid balls, made up of aluminium, steel and wood
of same shape and volume. Which of them would have highest inertia ? Why ?

Describe in brief an activity to illustrate the property of inertia of rest.

STec i gy fafeu | w9 STRfa a9 ST &t UQfafTad, Wie aeff aehel &t dF Jial
7 frgen Se goy fuss B iR =1 ?

forTa & STe & U1 b1 T8 KA & fore TRl fshan e w1 e # oA Hifew )

Define circular motion.

“Uniform circular motion is an accelerated motion”. Justify this statement with
reason.

An artificial satellite is moving in a circular orbit of radius 42250 km. Calculate its

speed if it takes 24 hours to revolve once around the earth.

AR (k! IR IS |
‘THTHH TR T @fa i Bt 871 59w S wRU gied g it

Teh AT ITUT 42250 km 21 & FamR el § 10 W @I Al I8 gooft w1 T =t
A H 24 h & &1 @ 3TRT =16 TRebiord it |

OR

An object starts linear motion with a velocity “u” and under uniform acceleration ‘a’ it acquires

a velocity ‘v" in time ‘t". Draw its velocity time graph. From this graph obtain the following

equations.
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24.

25.

(@) v=u+at
(b) s=ut+Y2at?

T fie gRftyes av ‘o @ Oe W& T Sl § | ThEEH ©R0 ‘a’ 9 ¢ 999 B At a9 v I
X a1 ® | TR fafe gro e gl <61 zenfug Sifss -
(@) v=u+tat

(b) s=ut+Y2at?

(@) Define animal husbandry. List any three basic aspects covered by animal husbandry ?

(b) Mention any two basic requirements of shelter facilities for animals so that their health is
not affected ?

(c) Give two example of Exotic breeds of cows which is selected for long lactation period.

(a) ORI 1 IR IR | $Heh A T oot hig G v e |
(b) BTl F AT H BT < AT SvIhdNd fafed aifer agsii & @ed | HE 399 7 72 |
(c) o T B0 SRl ok oI <1 ST arefl Tl k1 foselt 7% & shig <1 74 fafed |

OR
Why is irrigation important for crops ? Describe in brief any four different kinds of irrigation
systems adopted to supply water to agricultural lands.

W o foe faarE meeyel =i 87 Ff gt & Sa *F emufd % fore STt S At fRt =R
faferai =1 wag o 9o SIS |

Section B

A student is asked to mix starch in cold water and stir the solution well. The student observes
that :

(@) Clear and transparent solution is formed

(b) A white turbid solution is obtained

() A colloid of starch in water is obtained.

(d) A translucent and clear solution is obtained.

e faenedt =l 3 il ¥ = fae X 39 o ol =31 T 9 faaiifed 1 & fad &ver man1 39
foremeff A <@ -

(@) T 9T R UGN foeed 59 T

(b) T W el faerE o

(c) % o1 Ut § Sieligs o T
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26.

27.

28.

29.

d) TH O IR IR foered 59

The following four substances are added to water in four separate beakers milk, starch,
common salt, sand and are stirred well. A clear and homogeneous solution will be obtained in
case of :

(@) Milk (b) Starch () Common salt (d) Sand

IR gIh Aehd H S T ITH TTHferrad 9R qe1ei ol STe-3Ter et wefivifa faeted faan
T | 3Y, T, |IYR 0%, ¥ fohdl Yohtor § sitot § 9T 9 YRR foera e 3T |

(@) 34 (b)y wH () 9ERUTEE  (d) W

Which one of the following is not the property of mixtures ?

(@) It may be heterogeneous.

(b) It may be a system of variable composition.

() Its components are separated by physical methods.
(d) It always has a constant composition.

feretferfiaa & o6 = 1o il w61 & 82

@) A fowdih & wed ¥

(b) A ufed Heres & weRd € |

() Tk s1a9a “ifass faferdi gr gers for <1 whd €1
(d) TR T ford HEeH 2

The crystals of copper sulphate turn white on heating due to
(@) Loss of sulphate ions. (b) Loss of copper ions.

(c) Loss of water of crystallization. (d) Decomposition of copper sulphate.

TH T W HIR Tehe fFed Tthe U1 % 81 94 €, SR FRUTE :
(a) e AT T T (b) RIHR ST=F i B
(c) foreee-5ia1 =l &Il (d) R Fehe Fl e |

Observe the diagram carefully. Which is the correct setup of the thermometer for measuring
the boiling point of water ?
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@ A (b) B © C (d D
= fed o fosil & e 4 2 | 3 9 forad I o S "1 % fou oM o g aleh
Y I TR

(o))

@ A (b) B © C (d D
30.  Which one of the statements is correct for the process of melting of ice ?

a) At melting point only ice exists.

(b) At melting point only water exists.

(c) Atmelting point both ice and water exists.

(d) None of the above.

ot Y T WA o fTT i hed T T -

(a) TEHI® W HIA T S | (b)  THIH TR HIA T R

() Tei® W AT SR o SE B (d) S § | HI e |
31.

What is the first step involved in the separation of mixture of sand, common salt and
ammonium chloride ?

(@) Magnetic separation.
(b) Chromatography.
(c) Sublimation.

(d) Sedimentation and decantation.
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A, TTEROT AT (THR) TN STHIIH FAREE & FH901 1 g L | Tralg Yo =07 71 ¢ 2
(a)  TIEIhTT GHFRLI

(d) SR aur FrEra

32.  The zinc sulphate solution formed during chemical reaction between zinc and dil.
H,SO, acid appears :
(@) lightblue (b) colourless (c) light yellow (d) light green

S & 79 Terfe st st vEmEtTs sfufra § 99 e gethe faea gdd 8 ® -
(a) BRI Hredm (b) TN (c) BRI dlel (d) TR B0

33. For preparing iron sulphide in the school laboratory we heat the mixture of iron filings and
sulphur powder in :

(@) Petri-dish
(b) Copper-dish
() China-dish
(d) Watch glass

et 1 AR H AR Uowhize oM & [T 89 dig Yad q97 Yol IISel &l 0 i & fau
Wﬁ?’lﬁ%:

(@) udifem
(b)  HIWfeq
() = few

(d) o T

34.  Which one of the following cannot be separated by the process of sublimation ?
(@) Camphor (b) Iodine

()  Ammonium chloride (d) Copper sulphate

= o § fopdl edurad o §RT goreh 78l fohanl T Wehal ?

(@ HW (b)  STEEH
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35.

36.

37.

38.

(c) A FNES d) IR Gehe

A student recorded the mass of dry raisins as 2.0 g and the mass of raisins after soaking as 3.5 g.
The percentage of water absorbed by raisin is -
(a) 20 % (b) 10 % (0) 75 % (d)y  40%

u foremeff 3 gt frwfael &1 gea9H 2.0 g A1 SR 9 H FRiE % 91" 3T S59HH 3.5 g AT 39
T H fehufheii o gr STerRif STe <t faerdn gt -

@  20% b))  10% ©  75% d) 40 %

Human cheek cells are usually stained using :

(@) methylene blue. (b) safranin. (c) acetocarmine. (d) eosine.
TE T IR B g fRad SfRfSa foman S g
(@)  Aefife =9 (b)  HHHH ()  UHREmhmiEd (d)  3efEE

Arhar dal becomes dark yellow due to adulterant :

(@) Metanil yellow (b) Turmeric
(c) Itching yellow (d) Malachite green
IR T TRl et 519 eTufagor % R0 A €, 9w T
(a) T Il (b) &<l
() Ul R (d) HiefirM SEHEE (Malachite green)

Following are five steps for testing Metanil yellow in arhar dal :
(i) make powder of 5 g of arhar dal,
(ii) putdal powder in a test tube,
(iii) add 2-4 drops of conc. HCI and observe the change in colour
(iv) filter the content and keep the filtrate separately,
(v) add 10 mL of water and shake it well.
The correct sequence is :
@ () (i), (i), (@), (v) (b) (), (i), (v), (i), (i)
© (), (i), (v), (v), (i) ) (), (i), (v), iv), (i)
X T | HeleT Il sufgor st o fore frefafaa uie = feu e @ s we e | =1 €1
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39.

40.

41.

(i) 5 g 3R A H ST S

~ N

(ii) T UISET I TEHe! H elferd
(i) 2 -4 9% FWig HCI I Tferd 3R 1 § afkad &1 Ja1or wifse |
(iv) g =l =if3 9o =1 gere sl et Wed

(v) 10 mL ST Sl =81 TE T8ty |
STohT WEl A € :
(@ @), (i), (i), (iv), (v) (b) (), (iv), (v), (i), (iii)
(©) () (i), (iv), (v), (i) (d) @), (i), (v), (iv), (i)

A temporary mount of onion peel or human check cells is prepared in :

(@) water. (b) alcohol. (c) glycerine. (d) glucose.
TS i foeed! stere wule HIRTRed 1 el ST foheH TR foRa S g 2
(@ v« (b) TR (0  fromdm (d) TR

The material under microscope shows alternate light and dark bands and many nuclei. It
may be most probably :

(@) Nerve cell (b) Striated muscle

(c)  Sclerenchyma (d) Phloem fibres

gerest # SEH W R uered § uwaid goht ugt (d€) iR Tl (USh) 991 9gd ¥ ek
femr 20 €1 st Fuifad w9 9 98 e 8 Hehal © :

(a)  df>eRT IR (b) ad ueh
()  TIhTEH (d) FATTH Fcieh

A student put five raisins each in two beakers A and B. Beaker A contained 50 mL of distilled
water and beaker B has 50 mL of saturated sugar solution. After some time the student would
observe that :

(@) raisins in beaker A were more swollen than those in beaker B.
(b)  raisins in beaker B were more swollen than those in beaker A.
(c)  raisins in both beakers A and B were equally swollen.

(d) raisins in beaker A did not swell up at all.

u foemef = <1 iRl A SIRBH Ui - 2 fFufw W@ e A H 50 mL AR STt 3R S B H

Page 12 of 14

https://www.evidyarthi.in/



50 mL =\t =1 Hqa o= o1 F© 9 o faenef ufaa o fe -
() SR A B frwifie st B % forwifier i erden s1faes dol gu
(b) Y B fommifirer iRt A o fomifirer it erden s1fares dot gu )
() I steRd H frwifer v &9 § %ol gU e

(d) SR A H FReifer foasga &1 $erd |

42.  The correctly labelled diagram of collenchyma tissue (as observed in the laboratory) is :

//_M\“ P gk covrmey
L @ - _1—

Huclqus

L T Ealimal

_— '.. mE. .
@ " J N Cloplatm
(a) (B)

.' cul wpmbrane & 01
©

@ A (b) B

© ¢ (d D

TANTINAT H Y&I0T S YT ShicA<hISHT Sxcleh hl Tl AMHIfehd ol & :
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